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Na3322 2 HAl 17,590
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SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
| | | 2)F0IMETOI =X 30,000,000 30,000
HNESHAY|(LENH) 201,973 192,995 8,978
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ol 23| 66,926 54,021 12,905
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02 =< 55,366 43,021 12,345
NENI2LLY 55,366
2)53 9,796%1H *x40A| 2+ %128 4,703
2)63 8,312+42 x40A| 2+ 1228 15,960
2)73 7,457%2B *40A| 2t 12 7,159
2)83 6,682452 x40A| 2+ 122 16,037
2)93 5,993*4H x40 A| 2+ 128 11,507
203 YBEXIH| 1,560 11,000 560
01 JlESYYREY| 6,600 6,000 600
1)J|22Y9F=&Y| 2ElH 6,600,000 6,600
00 FRAIAREFY] 760 800 A40
DEE P I=E Y OFEHBY 40,000+ 192 760
M SASYYREY 4,200 4,200 0
NEASISERFEI 350,000+ 12& 4,200
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01 AFR22ld| 43,047 43,247 A200




oF)
®
ok
ol

ol
i)
o0

D
0
30 o

@l 0b R0

T RO

ol &0 ~

X &l oF

Ik &0 00J

e

KIo

Hl W

LH3r
Lld
RIS

Off &4

B

- SR1(31H) - MRAY

« X ZH
e

2 A

234

32,825

15,807
3,263
9,800

500
300
1,944

19,040

19,040
4,440

14,600

200
200
120
80
8,000
33,059
12,163
30

30
600
300
300
170
50

3
2
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3,263,000
350, 000%28 4
50,000+ 104
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R E=EONI="; 120,000 1CH 120
INSI HIBAZ 55
)X 20,000+ 1CH 20
3B A 35,000 =1CH 35
2)&IIR2 10,108
3)HAIR A 1,900kwx5, 320 10,108
)M=E23 1,200
3)HAIR A 100,000« 12& 1,200
N Zhl 1,196
2)ARA L)) 1,196,000 1,19
NAIE&EIS XY 9,200
2)R0IAHIANAE X2 100,000« 12& 1,200
2)HEH AR XIHI 8,000,000 8,000
NXAESIRH L KA 10,500
2)HH X 5,000,000+ 1CH 5,000
E=ESNE= 5,500,000+ 1CH 5,500

202 o4l 58,941 62,902 A3,961

01 =3LH0HbI 13,341 14,902 AT1,561
A0 2AM2Z 13,341,000 13,341

02 MUY 45,600 48,000 A2,400
SRRk ] 200,000+19%¥ 122 45,600
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2o 917,242 825,948 91,294
=OIXXI D18 25 (2ol H) 616,802 546,941 69,861
SXHE=A 616,802 546,941 69,861
SHeIoIL AL 5,000 5,000 0
201 LEr2dY| 5,000 5,000 0
03 A2 5,000 5,000 0

1) Holo) ¥ ALK 5,000,000 5,000
HE XA 98,282 58,421 39,861
101 el24d| 96,992 57,131 39,861
10 JIZtHI2E2XNSE= 96,992 57,131 39,861

NIIIESELS Y| LRI A X222l 47,334

2)les 32,000%4Z 200 25,600

2)Jtar3 3,200+4% 200 2,560

2)J1L¢ 25,600,000%1/3 8,534

2)AZtel = 5,000%4H «15A1 2t 123 3,600

2)=saslt=g 32,000%4H »45= 5,760

)RS I 32,000%4H 10 1,280

nigsde ¥ S#233| 49,658

2)l2s 56,882+ 1304 % 29,579

2)Iter3 5,688+130x4Y 2,958

2)J|L=¢ 29,579,000%1/3 9,860

2)AZtel =g 5,000«2F x15A| 2t% 12 1,800

2)=RaRIY 56,882x2F 48 5,461
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SA I BB - NRAY - B2 0l & o HIDE
301 LetEas 1,290 1,290 0
04 XNSLHUHI2EHI 1,290 1,290 0
NYHEZH2IXA 645,000+23] 1,290
ot s 121,480 121,480 0
301 LetEas 121,480 121,480 0
05 S-cl-BEEsEds 121,480 121,480 0
NoIE=¢ 200,000+36Z «123] 86,400
NolE&Hs= 200,000x36% »23] 14,400
1NOIES o] &AE 20,000%36H x 12& x22] 17,280
NeE=sg 50,000+68H 3,400
A 2FR=SJAY 390,000 360,000 30,000
401 AIEHIL R 390,000 360,000 30,000
01 Al&H 390, 000 360,000 30,000
NsoE A=Y SRALNF 20,000,000 20,000
1)10l1el tHEOS ot & 20,000,000 20,000
1)nol2el o3& 2+ 10,000,000 10,000
10HzHel CHSEXAIE 10,000,000 10,000
1042 s=2 =& 20,000,000 20,000
DOAE12] Dt J=E Al- 20,000,000 20,000
1)=&tot=7AH| 20,000,000 20,000
NeE2e| >3 Mgz 20,000,000 20,000
D& s=22E 20,000,000 20,000
NOHE3E s2H4A 20,000,000 20,000
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3)52 9,796%1H *x40A| 2t% 12 4,703
3)6= 8,312«5H x40A| 2t x 12 19,949
372 7,457*5B *40A| 24+ 123 17,897
3)8= 6,682+6F x40A 2t 12E 19,245
3)92 5,993+«3E x40A| 2t %12 8,630
203 LR =& 11,760 11,200 560
01 JI22EIRF&| 6,600 6,000 600
nNeas J|22Y 6,600,000 6,600
02 JRItAARF=XHI 960 1,000 240
1UoHH FH2IDtA 40,000%24 960
04 REN2ESIRFEUI 4,200 4,200 0
N 2A2Z 350,000%12& 4,200
Jle2&Hl 218,256 212,419 5,837
Jl=&Hl 218,256 212,419 5,837
201 Lor2Hy| 146,648 138,875 7,773
01 Ar2teld] 102,917 102,670 247
1)et=gY| 28,097
Q)2 ANEY AIREESH| 6,500,000 6,500
2)dI0IMZ2IED| EY 350,000%40 14,000
2)yaAxMTeIHIIEY 50,000%2004 1,000
2)=SANEX 18,700+310 5,797
Q)ZNEEE NRES 800,000 800
1)=& 2,000,000%5 = A 10,000
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HE2A G (LolH)
JI23&Hl ? A
SA - HE SR (B) - MPAY - BES e 2
2)EY AKX 1,000,000 1,000
1) Xt &k | 19,280
)X ERFU 440,000x 122+ 1CH 5,280
)HAXNHRIU 500,000 12 *2CH 12,000
2)NMEXIGI X 2,000,000+ 1CH 2,000
202 (48l 71,608 73,544 1,936
01 =LHAb 14,008 13,544 464
NEASY 75,800%24F *7 . 7 14,008
02 SHANYI 57,600 60,000 22,400
1) 20 g ohy| 200,000%24Z 123 57,600




